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Consider a sample of oxygen behaving like an ideal gas. At 300 K, the ratio of root mean

square (rms) velocity to the average velocity of gas molecule would be :

(Molecular weight of oxygen is 32 g/mol; R=83J K~ I mol - 1)

Options :
i
8
86435118631.
8
86435118632. 3
2
3
86435118633.
3
86435118634. 3

Question Number : 1 Question Id : 8643516211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

88 JFoHd D el TednHmr HBKBoDSST 300 K 58 e BE) S Dogigo
- ol ] :

T

SoreDiinds HOED DLy INK0NH Ke fe8:

(2820 wwgrdsin 32g/mo; R=83JK L mol 1)
Options :
s
8
86435118631.
il
86435118632, ' °
8
3

86435118633.
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B
V3

86435118634.

Question Number : 2 Question Id : 8643516212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An object of mass m, collides with another object of mass m,, which is at rest. After the
collision the objects move with equal speeds in opposite direction. The ratio of the masses

m, : m, s :
Options :
86435118635, 1 * 1
1
86435118636.
86435118637, 2+ 1
86435118638, ° 1

Question Number : 2 Question Id : 8643516212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m, @6%‘::?% o a8 S ATFod EE® &) DEE m, | a"::';::’:% e S50 & &8 b
! > 5 |&0s)

Options
86435118635, 1+ 1
1:2
86435118636.
86435118637, 2+ 1
86435118638, © - 1
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Question Number : 3 Question Id : 8643516213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle of mass m moves in a circular orbit under the central potential field, U(r)

where C is a positive constant.

The correct radius

Options :

86435118639.

86435118640.

86435118641.

velncit}-' graph of the pa_rticle's moton is :

3

L

O
86435118642.

A
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Question Number : 3 Question Id : 8643516213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m (508 Ko 2.8 Seasdn U(r) =

Options :
r A
) >
86435118639.
r A
O > U
86435118640.
r A
Q » T
86435118641.
r A
O > D
86435118642.
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Question Number : 4 Question Id : 8643516214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solid cylinder of mass m is wrapped with an inextensible light string and, is placed on a
rough inclined plane as shown in the figure. The frictional force acting between the cylinder

and the inclined plane is :

60°

[The coefficient of static friction, p., is 0.4]
Options :
.m;,*_

86435118643, °

5 mg
86435118644.

mg,

Ikt

86435118645.

86435118646. ;

Question Number : 4 Question Id : 8643516214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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60°

=

Options :

86435118643.

86435118644.

86435118645.

[288 ¥ reessmd pg, 04]

mg

e

5 mg

86435118646. i

Question Number : 5 Question Id : 8643516215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the angula_r veiocit}f of earth's spin is increased such that the bodies at the equator start

floating, the duration of the day would be approximately :
[Take g=10 ms 2 the radius of earth, R =6400x 10° m, Take w=3.14]
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Options :

does not change
86435118647.

1200 minutes
86435118648.

86435118649, OV minutes

84 minutes
86435118650.

Question Number : 5 Question Id : 8643516215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
86435118647.

200 e
86435118648, 1200 M

60 Dnex
86435118649.

B4 Snew
86435118650.

Question Number : 6 Question Id : 8643516216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a uniform wire of mass M and length L. It is bent into a semicircle. Its moment of

inertia about a line perpendiq:ula_r to the pla_ne of the wire passing, Tl‘urough the centre is :

Options :

Yk

2
86435118651.
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=
b

86435118652.

4
86435118653.

LI

86435118654.

Question Number : 6 Question Id : 8643516216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M ((si50e8 08cin LarEsdh He a8 2568 &K% E:’:ééﬁé-_cs‘*ﬁfmd: SodTed. e &K So|Bsw
ob B R desoNg eonorT E's}(“iim& O TPO® TP m(;iﬂ; |graiogain
Options :
ML2
7
86435118651.
1 ML?
2 2
86435118652. = ™
1 M2
4 o°
86435118653.
2 MIL2
5 2

86435118654.

Question Number : 7 Question Id : 8643516217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The speed of electrons in a scanning electron microscope is 1x 107 ms~ 1. If the protons
having the same speed are used instead of electrons, then the resolving power of scanning,

proton microscope will be changed by a factor of :
Options :

86435118655, 1597

—_

1
86435118656.

1

A 1837

86435118657.

1837

86435118658.

Question Number : 7 Question Id : 8643516217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2.8 FRoh JoEd DEED (SEM) &% o $6&1x 107 ms - 208 H& SOAS S,
(TDOD aherr, FEIS JPNoR (@RS DEFD (SPM) Bod) )E%Tee Joagssn

(resolving power) &°0 =°0E ey

r ¥

Options :

86435118655, 1537

-

1
86435118656.

1

1837

86435118657.

V1837

86435118658.

Question Number : 8 Question Id : 8643516218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The velocity - displacement graph of a particle is shown in the figure.

Uk

»>X

{} X (4]

The acceleration - df_qplac::-ment graph of the same parficle is represented h}-‘ :

Options :
W Y
O X
86435118659.
aA
O X
86435118660.
ah
O > X
86435118661.
I
O X
86435118662.

Question Number : 8 Question Id : 8643516218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

11/93



3/18/2021
Correct Marks : 4 Wrong Marks : 1

M M am vl T e T T J oy 5
2.8 Bea) I - PN |Pod Dard)|850 ShSns® SrSadsSe.
Tl

=

(LY
[
o Xq > X
o8 © Ewd e - FI [Fod B DBESDD B SreDOSSH
Options
W
O X
86435118659.
= N
O X
86435118660.
d .k
O » X
86435118661.
a A
0 x
86435118662.

Question Number : 9 Question Id : 8643516219 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For an adiabatic expansion of an ideal gas, the fractional change in its pressure is equal to

(where v is the ratio of specific heats) :

Options :
av
B | v
86435118663.
Vv
Wit
dV
86435118664.
1dv
v W
86435118665.
av

86435118666,

Question Number : 9 Question Id : 8643516219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

28 algmrdn RS TF S8y & HESES® Swid w0l Sk (v 9550 DeYPre
== G &3 i

Q) :
Options :
av
Y v
86435118663.
Vv
e
dV
86435118664.
1dv
86435118665.
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86435118666.

Question Number : 10 Question Id : 8643516220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The a_ngula_r momentum of a planet of mass M moving, around the sun in an eIIipfical orbit is

L . The magnitude of the areal velocity of the planet is :

Options :

L

M
86435118667.

L

M
86435118668.

2

M
86435118669.

4L
86435118670, M

Question Number : 10 Question Id : 8643516220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oDl T B Bk (L5sigRssn

M (555078 Ko 2.8 (e Jrtnd Héar &8 $5HHch 8%&® & 8.
=29 - 2 e a0 e = 2\ =
E’ 005 e [958y ST°ey SNy DB Seeasio:
Options :
L
86435118667.
L
2M
86435118668.
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86435118669.

4L
86435118670. M

Question Number : 11 Question Id : 8643516221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An ideal gas in a cylinder is separated by a piston in such a way that the entropy of one part
is Sy and that of the other partis S,. Given that5; >S,. If the piston is removed then the total

entropy of the system will be :

Options :
S5, X5,
86435118671. <
86435118672. 51~5;
S,+5,
86435118673. =
51

52
86435118674,

Question Number : 11 Question Id : 8643516221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s o

a8 Sk’ edfardnsi &l l;’gﬁ&ﬁ S& T al grridkn Qo Sy 0 Tos
G el
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eehsn S >y) )

wd
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Options :
S, X5,
86435118671. <
86435118672. 51=5,
S, +5
86435118673, ~1 2
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.51

52
86435118674.

Question Number : 12 Question Id : 8643516222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

am
The function of time representing a simple harmonic motion with a perind of — is:
]

Options :

sin(wt) + cos(wt)
86435118675.

T )
sin“(wt)
86435118676.

- \
_'%cos['— 2wt |
86435118677. 4

cos(wt) + cos(2wt) + cos(3wt)
86435118678.

Question Number : 12 Question Id : 8643516222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

sin(wt) + cos(wt)
86435118675.

T
sin“(wt)
86435118676.

- \
_"%cos('— 2wt |
86435118677. 4

cos(wt) + cos(2wt) + cos(3wt)
86435118678.
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Question Number : 13 Question Id : 8643516223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a series LCR circuit, the inductive reactance (X, ) is 10 {2 and the capacitive reactance (X()
is 4 (). The resistance (R) in the circuit is 6 ().

The power factor of the circuit is :

Options :

S

86435118679.

|G

86435118680.

N|l-~".

86435118681.

86435118682.

Question Number : 13 Question Id : 8643516223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=L L L
2.8 LCR (3D Sochind® (258 H88%550 (X)) = 10 O 5805 E5Hé (H8 &%5» (Xo) =
4 Q. $ochdndtd 5550 R) = 6 0 vand o Sodh ﬂﬂ“ﬂ?ﬂ TS50 :

Options :

86435118679. "~

86435118680, 2

M|l-~".

86435118681.
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1

22

86435118682.

Question Number : 14 Question Id : 8643516224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct ?
(A) Electric monopoles do not exist whereas magnetic monopoles exist.

(B) Magnetic field lines due to a solenoid at its ends and outside cannot be completely
straight and confined.

(C) Magnetic field lines are completely confined within a toroid.

(D) Magnetic field lines inside a bar magnet are not parallel.

(E) x= —1 is the condition for a perfect diamagnetic material, where yx is its magnetic
susceptibility.

Choose the correct answer from the options given below :

Options :

86435118683. S ey

(B) and (C) only
86435118684. ;

86435118685, *1) and (B) only

86435118686, \©) and (E) only

Question Number : 14 Question Id : 8643516224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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& |Bod DB D HOFED ?

(A) DEgd AEGHSSIweoXY o0 wchIed I8 GHdenotron,

(B) >Brank Hg EIN ©chrod T Dy, ool Fhe® Hoam 2dde, Frd e
20Oy &oldad.

(C) ertPong &% Slentpiel:] 2|8 Bypen 8T HBMEorT Eotra.

(D) Somrahamoedino 6550 echImod S Dpen HEroSBorr oK.

(E) x=-1(x 938 ochdrod $48) od 28H chardd (perfect) Sair edhikod
DETBRDHD Ho20fHoDHN:

wond & (§od araed® Nb SBDKE.

Options :

508050 (D) en Sedah
86435118683.(5} (D) s

(B) 58050 (C) en Smg
86435118684.

(A) 508050 (B) ev Sl
86435118685.

(C) 58050 (E) en S
86435118686.

Question Number : 15 Question Id : 8643516225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct relation between « (ratio of collector current to emitter current) and 3 (ratio of

collector current to base current) of a transistor is :

Options :

86435118687.
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B
o=
o
86435118688.
1
i o
86435118689.
&
o= —-
B
86435118690.

Question Number : 15 Question Id : 8643516225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options
0
3 =
l 1+ o
86435118687.
B
o=
0
86435118688.
1
=
l—o
86435118689.
B
n=—
B
86435118690.

Question Number : 16 Question Id : 8643516226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton and an a-particle, having kinetic energies K, and K, respectively, enter into a
magnetic field at right angles.

The ratio of the radii of trajectory of proton to that of a-particle is 2 : 1. The ratio of Kp : K,
is :

20/93
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Options :

86435118691, 1+ 4

86435118692, 41 1

86435118693. B

86435118694, 1 * 8

Question Number : 16 Question Id : 8643516226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

K, &8d0 K, 188%eore o &8 (& DS 005D a-Seasoen ©OROTT &l BdhHIod s
(3 BoDaron. T8 (FE Srdsve TogrTren ©f (E0os” 2: 1 vwand K, 1 Ky end
¥ @

Options :
86435118691, 1+ 4

86435118692, 31 1

3
86435118693.

86435118604, 1 8

Question Number : 17 Question Id : 8643516227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Three rays of light, namely red (R), green (G) and blue (B) are incident on the face PQ of a
right angled prism POR as shown in the figure.

—

Q R

The refractive indices of the material of the prism for red, green and blue wavelength are

1.27, 1.42 and 1.49 respectively. The colour of the ray(s) emerging out of the face PR is :
Options :

26435118695, blue and green

86435118696, P1Ue

green
86435118697.

86435118698, Ted

Question Number : 17 Question Id : 8643516227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Q5D (R), 85H0)(G) 00050 90 (B) @5 Swrth Sorbe o8 88ren al wo®

-

Options :

DD BB eHBY)
86435118695.

59
86435118696.

86435118697.
86435118698.

Question Number : 18 Question Id : 8643516228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time taken for the magnetic energy to reach 25% of its maximum value, when a solenoid

of resistance R, inductance L is connected to a battery, is :
Options :
E

= In2
86435118699,

In5

=il

86435118700.
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L In10

E
86435118701.

infinite
86435118702.

Question Number : 18 Question Id : 8643516228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4 E W =] al "y . .
DB %5w R 5080k (288850 L o e IBacont &S aritdd 500555 K6 echIdod

86435118699.

86435118700.

L In10
R
86435118701.

86435118702.

Question Number : 19 Question Id : 8643516229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A pla_ne elc-ctmmagnefic wave propagating alnng y—direcfion can have the fﬂHf}wmg pair of

electric field {E] and magnetic field {E] components.
Options :

E1Jr 3 Bv orE,, B,
86435118703. - - o7

E,,B,orE

vy

BT
86435118704, '
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E..B.orE ,B
86435118705. *° < o

E..B. orE_,B
86435118706. ¥ % L

Question Number : 19 Question Id : 8643516229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a ¢ : g [— )
y-DEm (BArSRY) o SHde JERHchered SSonEnin & (Sob Dgs 2 | E |S08c5
ity ,
©chIod 58 |5 eote =8 sodsss.
T bl " T

Options :

E ,B 8 E ,B,
86435118703. ¥ ¥ .

E_,B

=
Y goe ]33)r , B,

86435118704.

B, & E,, B,
86435118705.

=
E,, B, 8 E, B,

86435118706.

Question Number : 20 Question Id : 8643516230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The decay of a proton to neutron is :
Options :

not possible as proton mass is less than the neutron mass
86435118707.

26435118708, Possible only inside the nucleus

ay 1 it 1 i T 1 b =
26435118709 always possible as it is associated only with ¥ decay

26435118710, MOt possible but neutron to proton conversion is possible
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Question Number : 20 Question Id : 8643516230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(D Dol Smgerdy Eohdo:

Options :
B =) 2 rl r —
Qenseth Jothdod [@bers (Bord Sryerd Boed So8 S
86435118707.
ZosEsn Boe SPEDH HoHsod
86435118708.

86435118709.

86435118710.

Physics Section B
Section Id : 864351416
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351416
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643516231 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The projectile motion of a particle of mass 5 g is shown in the figure.

" . S
Fase 455
A B

The inital velocit}-' of the pa_rticle is 5@ ms and the air resistance is assumed to be negligible.

The magnitude of the ch ange in momentum between the points Aand Bisxx10~2 kgmﬁ L

The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643516231 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

wrZ o " 5 5 - ek =
5 g BFoed Ko &t HENEH Kossimds & (Bod Hbdn BDcHBFSHD. B

G
s
fuk,
g

= = =

= B L5 B : :
5¢2 ms™' S58cin md 855D GaFEJdhan. A obo B dothde hiy (@EgEi

ij‘
o5

HB3eadin xx10~2 kgms ™ lwond x Dendd

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516232 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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An infinite number of point charges, each carrying 1 wC charge, are placed along the y-axis
aty=1m, Zmdm. 8 m ......... g
The total force on a 1 C point charge, placed at the origin, is x 10° N.

The value of x, to the nearest integer, is

[Take = 9x10° Nm?2/C2]

d1req

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516232 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a858 1 pC ASyEradan Mo @losd doth ANTrdsrod y-eihin Joak y=1m,2m,

Am,8m..eeenn. GoDTe. dre Hodhs) 8 Gowd 1C Eﬁfo&mﬁ%‘”&"m @ Eoth E}{faz'}mvﬁféa’m
~ ) )

BV Iwdo 2eso xx10° N wond x Dend

1

= 9x10” Nm2/C?
dreg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Question Number : 23 Question Id : 8643516233 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two wires of same length and thickness having specific resistances 6 {} cm and 3 () cm
respectively are connected in parallel. The effective resistivity is p {2} cm. The value of p, to

the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643516233 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n”

2.8 PPED 5HB8C5H Hodsw Ko 6 N em S508d5n 3N cm &-%aé a5 SSnen o Soh &Ko

QSrodtorr EOaTm. TR (Dgrard)s DEEES p ) om wand p Dend

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643516234 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 4 kg, moving with a velocity of 10 ms ~1, collides with a spring of length 8 m
and force constant 100 Nm 1. The length of the compressed spring is x m. The value of x,

to the nearest f_nteger, 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643516234 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4 kg ((5:30°8 Fo 2.8 208 10 ms™! IS & EHende 8 m FEH B 100 Nm ™! e
TR0 ! (=] |§mui/o{’:0 e&)aoees Emf’fgjﬁ&. HH0B6N Egzur(o \.ﬁné; LD xm oS
X aJE305]

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643516235 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The typical output characteristics curve for a transistor working in the common-emitter
configuration is shown in the figure.

IC(mA]'
H ——————————— : ?-""__ __IE=4DI“'"A
Bpeasamind ot o =0 B
¥ s == Ig=20 pA
A ~  Izg=10pA
0+ ’

Vep(V)

The estimated current gain from the figure is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516235 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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&

Gl AL AT L BV sl Lo Vagail
eandoanéd OL0S QlEF adaaing”

Io(mA) T
B ——————————— e = 7 IB=4D|J-A
B e 1, =30 pA
4 _______ :.-______.- s e A I'B =2|:] I--LA
2 -———?_— e v e I'B:]-D I--'l--J-%L
__f:
rf [
0

Veg(V)

mti)é@ Do ke aodsr (DdEn Sod) )
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643516236 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a 72 cm long wire AB as shown in the figure. The galvanometer jockey is placed at

P on AB at a distance ¥ cm from A. The galvarmrneter shows zero deflection.

12 £} 6 (1
AA E\ AN
i
'\',_E' )
|
X IH\
. >3 $B
A

| P

The value of x, to the nearest integer, is

31/93



3/18/2021
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643516236 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

DeBnG® S DFore 72 cm PEHN AB oD 855 SITI rrexe bbb =80 AB S
A D08 x cmEr5os® P B8 soBndis. mrowrantd Simm) eodSgisnd Srds
wd

1240 . 6 (1
AN A - Ahoh A
\I

=

LY I.JII

\,
X ™
- > L

AW . * R
IJ
7
X a)e0sd

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516237 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A galax}-' is moving away from the earthata speed of 286 kms — 1. The shift in the wavelengﬂl

of a redline at 630 nm is xx 10~ ' m,
The value of x, to the nearest integer, is =
[Take the value of speed of light ¢, as 3 x10% ms !

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643516237 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a8 Rerd) 286 kms 1588 20edp Ho0& Ledorm I 0od. 630 nm &0 SLorGBHL No DY
2

A&

£

0550 (shift) x X107 0m eand FroroselE GEM x Dend
= (5] ]

[508 Irisw ¢ =3x108 ms—]]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643516238 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a water tank as shown in the figure. It's cross-sectional area is 0.4 m?. The tank
has an opening B near the bottom whose cross-section area is 1 em? A load of 24 kg is
applied on the water at the top when the height of the water level is 40 cm above the bottom,
the velocity of water coming out the opening B is v ms 1.

The value of v, to the nearest integer, is

[Take value of g to be 10 ms ™7

24 kg
[ A
e
B '-I",_ l'-l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643516238 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

DL TR a8 I8 FED arohFan. TR RigRd dTragin 0.4 m? &8 ek
gelhod® B e a8 1cm2;"ac553¥<:5 E‘éﬁb&)&’m He Solgisin &;3&& edotoernhsan o

20HES S e 0
[g =10 ms 7
24 kg

o
'.~,."~ o,

B 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516239 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A TV transmission tower anlenna is at a height of 20 m. Supp ose that the receiving antenna

1s at.

(i)  ground level

(i) aheight of 5 m.

The increase in antenna range in case (ii) relative to case (i) is n%.
The value of n, to the nearest integer, is

Response Type : Numeric

34/93



3/18/2021
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643516239 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2.8 TV (S8 &0 o8 20 m IHS 6. 2.83¢ (s sobam

(=9 - L=

:1

Gy

&SSP so8T FRE® WG (i) H JBRcHod® (i) S oed & Jrngorr nk.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643516240 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius of a sphere is measured to be (7.50 = 0.85) cm. Suppose the percentage error in its
volume is x.

The value of x, to the nearest x, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643516240 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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28 FPEFSn God) arrdstod (7.50+0.85) cm e Fodadod. ai3¢ ool 05088 mesdy &°9

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351417
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351417
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643516241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A hard substance melts at high temperature and is an insulator in both solid and in molten

state. This solid is most likely to be a/an:
Options :
86435118721, lonic solid

86435118722. Cowvalent solid

86435118723, Metallic solid

86435118724, Molecular solid

Question Number : 31 Question Id : 8643516241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

a8 NG Jorfsn 0ds &g 58 BDSS0
] L -

: > e
@ ]
20HE50 (insulator). & {Jﬁwm’aij’{m @é&u@' é‘d@‘&j‘.ﬂ’ﬁs 2.8 :
Options :
esdrE oS5
86435118721.
80T oSS0
86435118722.

86435118723,

86435118724.

Question Number : 32 Question Id : 8643516242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : Bohr's theor}-' accounts for the stabilit}f and line spectrum of Lit ion.

Statement 11 : Bohr's T.hEDr}’ was unable to expla_f_n the spIitting of spectfal lines in the

presence of a magnetic field.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
86435118725. Both statement 1 and statement 11 are true.

86435118726, Both statement I and statement Il are false.

86435118727 Statement I is true but statement 11 is false.

86435118728, Statement 1 is false but statement 11 is true.

Question Number : 32 Question Id : 8643516242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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|80 Both DHBeaen EJ,EC:;ESG‘FQDJ. :
DB 1: 56 Jrrossin Lit edirS DEdo 506 ord DerHsheo:d ISHE80HD.
= 5] ol =]

D&% 111 echakod & Dogod® S8HeBee I
o

Ll

E@a

(splitting) 2 &6 DTEodin 38880585,

[

S ey aﬁﬁoé.

£,
‘-_'FI'

D DB egrdorr (ol asred” wdod

:_r'l

Options :
2eies 1 508050 2:58es I en S8GESD
86435118725.

DEes 150800 DRV Il en J8GHD =2
86435118726.

D5 1 56GHS6 =0 DEGes 1156 %
86435118727.

86435118728.

Question Number : 33 Question Id : 8643516243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The charges on the colloidal CdS sol and TiO, sol are, respectively :

Options :
86435118729, Positiveand positive

86435118730, Negative and positive

86435118731, Positive and negative

36435118732, Negative and negative

Question Number : 33 Question Id : 8643516243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CdS S 8ci» TiO, S © S eJsven SEdm

Options :
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86435118729. ©

86435118730. e

86435118731, e ¢

86435118732.

Question Number : 34 Question Id : 8643516244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The first ionization energy of magnesium is smaller as compared to that of elements X and Y,
but higher than that of Z. The elements X, Y and Z, respectively, are :

Options :

86435118733, 4rgon, chlorine and sodium

86435118734, chlorine, lithium and sodium

86435118735, argon, lithium and sodium

86435118736, EOM, sodium and chlorine

Question Number : 34 Question Id : 8643516244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DAhcho BwE) Indd ©chiLde I8, Swrowen X8 Yo Zo8 s =R Z

T

FeBND Bodl B, X Y 0bciy Z sorerseen S50 :

86435118733.

86435118734.

alrqa, e
86435118735. &
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QaieS, Béoho Hoasn &85
86435118736. '

Question Number : 35 Question Id : 8643516245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Mercury (i)  Vapour phase refining
(b) Copper (if)  Distillation Refining,
(c) Silicon (i) Electrolytic Refining
(d) Nickel (iv) Zone Refining

Choose the most appropriate answer from the option given below :
Options :
86435118737, (@k(i), (b)-(iii), (c)-(iv), (d)-(1)

86435118738, (@)D, (0)-(iv), ()-(H), (d)-(iii)
86435118739, (@)-(ii), (b)-(iii), (c)~(i), (d)-(iv)

86435118740, (@) (1), (b)-(iv), (c)-(iii), (d)-(1)

Question Number : 35 Question Id : 8643516245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dae- 115 odar-1 & wdDdehehsdo -

Sdae- 1 wedoe- 1
(a) Sodoxd @) ) @53 85555
(b) =56 (i) eSS 855550
() 208 (i) DSuS %5550
(d) OBS (iv) Soode EL5ssn (S 6A0R)
8o oisTw ol wEjod LIS eared A5ns0d
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Options :
86435118737, (@)k(1), (b)-(iii), (c)-(iv), (d)-(i)

86435118738, @D, B)-(iv), (c)-(id), (d)-(iii)
86435118739, (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

86435118740, (@)r(H), (b)-(iv), (c)-(iii), (d)-(1)

Question Number : 36 Question Id : 8643516246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In basic medium, I-IP_C!;1 exhibits which of the following reactions ?
(A) Mn2* — Mn**

(B) L =1

(C) PbS — PbSO,

Choose the most appropriate answer from the options given below :

Options :

86435118741, ) only

86435118742, (B)only

86435118743, (A), (B) only

86435118744, (1N (©) only

Question Number : 36 Question Id : 8643516246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SPOairREes”, HyO, (Bob o S8od aob?

Gy

A) Mn?* — Mntt
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86435118741. (A) =

Lol
86435118742, (B) I8

o6
86435118743, (A): (B) Sr(@b

86435118744, (A) (C) SFED

Question Number : 37 Question Id : 8643516247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Be (i) treatment of cancer
(b) Mg (ii) extraction of metals
(c) Ca (i) incendiary bombs and signals
(d) Ra (iv) windows of X-ray tubes
(v) bearings for motor engines.

Choose the most appropriate answer from the option given below :
Options :
86435118745, (@)-(1v), (b)-(iii), (c)-(ii), (d)-(i)

86435118746, @), (D)-(iv), (c)-(i1), (d)-(v)
(@)-(iv), (b)-(ii), (c)-(1), (d)-(ii)

86435118747.

86435118748, (@ (), (B)-(iv), (c}-(v), (d)-(ii)

Question Number : 37 Question Id : 8643516247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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dae - 11 %5 Doe - 18 a8i8xH5m :

o - 1 wdoe - 11
(a) Be (i) s3xHE D8,
(b) Mg (i) &%t IYYe
(c) Ca (iii) :—:4.5:306565 (incendiary) eromen 8D VNS
(d) Ra (iv) X-ray fPepe 888w

v) Irers aoaSed® BooA.

Options :
86435118745, @)-(1v), (b)-(ith), (c)-(11), (d)-(1)

26435118746, @-(ii), (b)-(v), (c)-(11), (d)-(v)

86435118747, @), (PH(i), (c)}-(0), (d)-(i)

86435118748, (@), (b)-(iv), (c)-(v), (d)-(1i)

Question Number : 38 Question Id : 8643516248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxidation states of nitrogen in NO, NDZ, NZD and NDE are in the order of :
Options :

NO > NO, > N,O > NO3
86435118749. ;

N,O > NO, > NO > NO;
86435118750.

e T -
86435118751. Ny WOy =ROEE N0

NOz > NO, > NO > N,O
86435118752. NOg 2 2
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Question Number : 38 Question Id : 8643516248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NO, NO,, N;O %80 NO; 06® 3¢PaS efjste 8 ddodH EHsw:
Options :

NO > NO, > N,O > NO3
86435118749 ST, T :

N,O > NO, > NO > NO;
86435118750, 2 2 ~

g6435118751. NO2> NOz >NO>N,O

NOZ > NO, > NO > N,O
86435118752. NOg 2 2

Question Number : 39 Question Id : 8643516249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxide that shows magnetic property is :
Options :

¥

Si0
86435118753. 2

Mn,O
86435118754, | 34

MgO
86435118755.

Na,O
86435118756. i

Question Number : 39 Question Id : 8643516249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@chdmod TR (PSS o eBG:
[ g (L= N o —)
Options :

¥

Si0
86435118753. =

I"»-'II‘I:ED4
86435118754. :
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MgO
86435118755.

Na,O
86435118756. =

Question Number : 40 Question Id : 8643516250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The secondary valency and the number of hydrogen bonded water molecule(s) in
CuSD4'5H2C1, respectively, are :

Options :

86435118757 4 and 1

86435118758, 0 and 4

86435118759, ° and 1

86435118760, 0 304 2

Question Number : 40 Question Id : 8643516250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
) £ 2 = i = o NN 2 : &
CuSO, -5H,0 & 280 I8y DO TEE a0 poreny) I8 wew(en) SEHJ

Options :

4 35080 1
86435118757.

86435118758.
86435118759.

86435118760.

Question Number : 41 Question Id : 8643516251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement 1 : Non-biodegradable wastes are generated by the thermal power plants.
Statement Il :  Bio-degradable detergents leads to eutrophication.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

86435118761, Poth statement I and statement 11 are true.

86435118762, Both statement 1 and statement Il are [alse.

86435118763 Statement 1 is true but statement 11 is false.

36435118764. Statement 1 is [alse but statement 11 is true.

Question Number : 41 Question Id : 8643516251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
|80 Both DHBeaen :—::.a”:;mm?un .
DB [: GGS DLiogd Solore ol Bendc Sgoren 25gowr {¥o IokH.

D8 I1: E5Zrgd E&BoSen CBHERSH w08 ow.

D DB Ggrdorr, |Bod agiste ok wdiod SNHOS warend aa&:&%ﬁo&:

G

wdes 1 00050 e I en HDOGH[.
86435118761. T

o L O e T e VLB P -
26435118762 wedes 1550800 Qs8es Il en DS 508.

Px8es 1 58FHG =0 k5% 11 9BTHRE 59,
86435118763. == -

NEkes 175006 et o8 DAV 11 HBG@56.
86435118764. = =

Question Number : 42 Question Id : 8643516252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement 1 : CEHEDH and AgCN both can generate nudec-plﬁ_le.

Statement 1l : KCN and AgCN both will generate nitrile nuclec-phile with all reaction
conditions.

Choose the most appropriate option :
Options :
36435118765. Both statement I and statement 1l are true.

86435118766. Both statement 1 and statement Il are false.

86435118767 Statement 1 is true but statement 11 is false.

26435118768, Statement 1 is false but statement 11 is true.

Question Number : 42 Question Id : 8643516252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(8o Both DNBesen BHRTEOW !

Q&% 11 G H.OH 8050 AgCN, &8 Soth ;“::El:é«ifmﬂm S8 @Brps amboliied.

o

i

DHBes 11: KCN 58w AgCN, & Boh Hayptiares JBS Sm8@rns o o) Sox 560&Eed®

»
L
eEhodned.
w&08 G0N DNFEPGSND A58
Options :

Sedes 1 80k ARGes Il en HDOTDH.
86435118765. g

k.

2es 1500050 A3es 1l en DOGRD 508,

&

86435118766.
36435118767 Q&G 1 306 GHHG =70 Qe 11 D00 =0,
Sedes 1 20G@08 seeh 7R Dadtes 11 H6GHHE.
86435118768. e -
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Question Number : 43 Question Id : 8643516253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the following molecule,
IT;C\
/L_ _D@

Hybridisation of Carbon a, b and ¢ respectively are :

Options :

b R 2
86435118769, 1 * P ¥

3 2
86435118770, °F » P 5P

o
86435118771, F » P

sp2, sp, sp2
86435118772. P fe

Question Number : 43 Question Id : 8643516253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R
|;u¢1 a\.&.)c\." ’

et

a, b 580 c o8 S Hodbsdny SBHmr

Options :

il 2
86435118769, 1 * P ¥

3 2
86435118770, °F » 5P 5P

-
86435118771, F » P 5P
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sp3, sp, sp?
86435118772. P A

Question Number : 44 Question Id : 8643516254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Main Products formed during a reaction of l-rm:-thnxy naphthalene with h}-‘dmindi{: acid

are :
Options :
I
“ and CH;I
86435118773.
I
“ and CH,OH
86435118774.
OH
“ and CH,OH
86435118775.
OH
“ and CH,]
86435118776.

Question Number : 44 Question Id : 8643516254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a = ”'S Sy

1-S0%r8) PRdn & THE odris i S6i8

Options :
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86435118773.

86435118774.

86435118775.

OH

“ £00060 CH,]
86435118776,

Question Number : 45 Question Id : 8643516255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reaction of hypobromite with amide, the carbonyl carbon is lost as :
Options :
86435118777. CO

86435118778. 2

86435118779.

HCO.
86435118780. 3

Question Number : 45 Question Id : 8643516255 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
s & E‘@'ﬂlﬁ@ﬁ L’ESJQ S?Cj‘;if S0 drdodt E:E'uii’fu
Options :
86435118777. €O
86435118778. s
LA
05
86435118779.
HCO,
86435118780. 3
Question Number : 46 Question Id : 8643516256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
.
H*, Heat > oy

O
dil NaOH > X"
Consider the above reaction, the product ‘X’ and “Y" respectively are :

Options :
O O
é/DHO ; M
OH O
i O é/@

86435118781.

51/93
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O O
W .r M:
86435118783.
O 9]
Question Number : 46 Question Id : 8643516256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

86435118784.

O
N S
5 dil NaOH > H~, Heat » oy
2 ~5b’5@: |SoraTyen X 0din Y e SHd
Options :
O O
W ; M
86435118781.
OH ) :
86435118782. O
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W .r M:
86435118783.

O 9]
Question Number : 47 Question Id : 8643516257 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An organic compound “A” on treatment with benzene sulphonyl chloride gives

86435118784.

compnund B. B is soluble in dil. NaOH solution. Comp ound A is :

Options :
86435118785, “etls ~ CHy NH CH,

C.H.—N-(CH
86435118786. & 2 (CH,),

CH; — NHCH,CH,
86435118787, ~© 2
CeHls—CH—NH,

86435118788. iy

Question Number : 47 Question Id : 8643516257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a8 8O « EA:L@’:J S0 “A” BodR ~t5“-?3§ EBE &° S8 ol Sy

:
NaOH (orse08° E8ihdhod. eond QeEIDL A
Options :

86435118785, o1~ CHp NH CH,
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CH.—N-(CH
86435118786. © 2 (CHy),

86435118787, ot~ NHCH,CH,

86435118788. Gl

Question Number : 48 Question Id : 8643516258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH,
NO,
HNO;, H;804
288 K
NO,
ruc}z
A B

Consider the given reaction, percentage vield of :
Options :
86435118789, + 7> B

86435118790, © > A > B

- 5 ok
86435118791. i

86435118792, €= B> A

Question Number : 48 Question Id : 8643516258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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NH,

NH, NH, NH,
NO,
HNO- , H-SO,
i’ it T o +
288 K
NO,
NO,
A B C

SHRY ﬁiﬁéﬁ.ﬂ“ Srvad S

Options :

86435118789, +>C>B

86435118790, € > A > B

5 ik
86435118791. e

86435118792, C> B> A

Question Number : 49 Question Id : 8643516259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(Class of Chemicals) (Example)
(a) Antifertility drug (i)  Meprobamate
(b) Antibiotic (i) Alitame
(c) Tranquilizer (ii) Norethindrone

(d) Artificial Sweetener (iv) Salvarsan

Choose the most appropriate match :
Options :
86435118793, (@)F-(1), (b)-(iil), (c)-(ii), (d)-(i)
so351 15704 @), (B)-(iid), (©)-i), (d)-()

86435118795, (@ (i), (b)-(iv), (c)-(1), (d)-(ii)
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86435118796, @) (). (B)-(1v), (€)}-(0), (d)-(iti)

Question Number : 49 Question Id : 8643516259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ae - 11 8° edar -1 9 285955 ;

sdar -1 it e | |
(Brchre 8%0) (&T=s5te)
(a) 1) IBEE ool () DSPooes
(b) Crod a@BrSE (i) o08%
(c) (erofy BB (i) FI8oEES
(d) BB 8D sEsm (iv) SIS

86435118793, (@)r(1v), (b)-(iil), (c)-(ii), (d)-()
86435118794 (@) (1), (b)-(iii), (c)-(iv), (d)-(1)
86435118795, (@)-(Hi), (b)-(iv), (€)-(1), (d)-(ii)

26435118796, (@@ (B)-(iv), (c)-(), (d)-(ii)

Question Number : 50 Question Id : 8643516260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Deficiency of vitamin K causes :
Options :
86435118797, Increase in blood clotting time

86435118798. Decrease in blood clotting time
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86435118799, Cheilosis

86435118800 Increase in t’ragilit}f of

Question Number : 50 Question Id : 8643516260 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L. phut o . D A i
atiaba K &HDo o el & b -'j
t)

Options :

86435118797. —

86435118798. —

RBC's

86435118799, O
86435118800, REC © JLRC DOMDE

Chemistry Section B
Section Id : 864351418
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351418
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643516261 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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10.0 mL of Na,COj; solution is titrated against 0.2 M HCI solution. The following titre values

were obtained in 5 readings :
48 mL, 49 mL, 5.0 mL, 5.0 mL and 5.0 mL.

Based on these readings, and convention of titrimetric estimation the concentration of Na_.:_.CD3

solution is mhl.

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643516261 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10.0 mL © Na,CO, ([mrsessioid 0.2 M HCl [mrsiessin & oo

Sesldo mAdomedn. |8od

QU

5 8&0F Densen ofomrow :
48 mL, 49 mL, 5.0 mL, 5.0 mL 528d3» 5.0 mL.

& 880 o wgrdorr BN FErH B35 wodare oe, Nay,CO; [@edns) mEd
mM.

(el S0 JroroseAS H8TST0Mm).
) tol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643516262 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of species below that have two lone pairs of electrons in their central atom is
(Round off to the Nearest Integer).

SF,, BE; , CIF,, AsF,, PCl,, BrFy, XeF,, SF,

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643516262 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

P T - U JEDET LV Y R IV Sy N R Y PE e Fpti o e il O
(Bob eréied® BolldE DYsTrnsd) 2 Dot 2.0600 @048 Qo|SFdenihe)
L =4 a—_ e (=9

SF,, BF; , CIF,, AsF,, PCls, BrFs, XeF,, SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643516263 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The gas phase reaction

2A(g) = Aq8)
at 400 K has AG"= +25.2 k] mol ~ 1.
The equilibrium constant K- for this reaction is %10~ 2 (Round off to the Nearest
Integer).
[Use : R=83T mol"! K1, In 10=23
Iogm 2=0.30, 1 atm=1 bar]
[antilog (—0.3)=0.501]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 53 Question Id : 8643516263 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

400 K 58 arcina88” abih <55
] @ :

2A(g) = As(g)

% AG"= +25.2 k] mol 1,

Iogm 2=0.30, 1 atm=1 bar]

[antilog (—0.3)=0.501]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643516264 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A solute A dimerizes in water. The boiling point of a 2 molal solution of A is 100.52°C. The

percentage association of A is

[Use : K, for water=0.52 K kg mol 1
Boiling point of water=100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

. (Round off to the Nearest Integer).

Question Number : 54 Question Id : 8643516264 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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—100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643516265 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The solubility of C dSD in water is 8.0 x 10 "4 mol L
x10~® mol L~ 1.

(Assume that solubility is much less than 0.01 M)

is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643516265 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HBE CdSO, [rcdaHe 8.0x 1074 mol L1, 0.01 M H,S0, &°
%x10~%mol L1,

(r5hchE 0.01 M o0&

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

. Its solubility
(Round off to the Nearest Integer).

in0.01 M H?_SC)_; solution
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100

Question Number : 56 Question Id : 8643516266 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The molar conductivities at infinite dilution of barium chloride, sulphuric acid and
hydrochloric acid are 280, 860 and 426 S cm? mol 1 respectively. The molar conductivity at
infinite dilution of barium sulphate is S em? mol ~ 1. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643516266 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

= - = - = ol &
Zoaho 08, Semses eo HOn FEE S elire, vbod HOJo $F Ireb THEdw
: . : 3
= - - wr=h = v, o B e )
S85me 280, 860 2508050 426 ScmZ mol ~ L Z8cho 58S cﬂmé& @508 DOSo S8 Jreerd
]
TeIES Scm? mol~l. (essreawncdy W0 JrTrosPRE HODCINEDD).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516267 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction has a half life of 1 min. The time required for 99.9% completion of the reaction is

min. (Round off to the Nearest Integer).
[Use : In 2=0.69; In 10=2.3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 57 Question Id : 8643516267 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2.8 iy eTrdingy 1 min ~:3€55 00.9% I8 sERrAE QZQES‘LE:JJ min.

[ In 2=0.69; In 10=2.3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516268 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A xenon compound ‘A" upon partial hydrolysis gives XeO,F,. The number of lone pair of

electrons present in compound A is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516268 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[ =&

W . B D g, £ AT 8 5 - — -2
2.8 2] JAPFSSw ‘A’ FFlorr aw BN

&) 2000 IO xobew Doy . (esaeedo &8 SJrorosPRS HOTCDsD).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 59 Question Id : 8643516269 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

COOH COOH
FeB
+ Bry T + HBr
Br

Consider the above reaction where 6.1 g of Benzoic acid is used to get 7.8 g of m-bromo
benzoic acid. The percentage vield of the product is

(Round off to the Nearest Integer).
|Given : Atomic masses : C:120u, H: 1.0 u, O : 16.0 u, Br : §0.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516269 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

COOH COOH

FeB
+Br2ip- + HBr

Br
2 SEE° 6.1 g o BoEaws elipd) $O@rAose 78 g © mEar o ank eipo XHdod.

) Oival o

[ @) S8Sre groren : C:120u, H: 1.0y, O: 16.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 60 Question Id : 8643516270 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In Tollen’s test for aldehyde, the overall number of electron(s) transferred to the Tollen's

reagent formula [Ag(NH,),]* per aldehyde group to form silver mirror is
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643516270 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351419
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351419
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643516271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If 15sina +10cos*a=6, for some aeR, then the value of 27sec®a + 8cosec®a is equal to :
Options :

86435118811. 500

86435118812, *00

86435118813, 20

86435118814, 220

Question Number : 61 Question Id : 8643516271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2.5°5% aeR % 15sinfa + 10costa =6, @and, 27sec®a +8cosecPa G Dewd=

Options :

86435118811, 20U

86435118812, 400

86435118813, 390

86435118814, 220

Question Number : 62 Question Id : 8643516272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f P and Q are two statements, then which of the following compound statement is a
tautology ?

Options :

se43s118815. (P=Q A~ Q) =P

s6435118816, (P=Q A ~Q) = Q
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86435118817, (P=Q A~Q)= ~P

86435118818, (P=Q A~ ~Q = (P~ Q)

Question Number : 62 Question Id : 8643516272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P 50805 Qen Both [HdSmrenand, [Bod T8S° O Hodind (HH5H0 a8 DE&HESTHob?
Options :

g6a3s11sg1s, (F=QA~Q =P

86435118816, (F=Q~~Q=Q

26435118317, (P=QA~Q)=~P

86435118818, (P=Q A~ ~Q = (P~ Q)

Question Number : 63 Question Id : 8643516273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A pole stands vertically inside a triangular park ABC. Let the angle of elevation of the top of

the pole from each corner of the park be % If the radius of the circumcircle of AABC is 2,

then the height of the p(}IE is equal to :
Options :
2.3

86435118819, 9

86435118820.

86435118821.
86435118822.
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Question Number : 63 Question Id : 8643516273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT FE v an o 3 L s : £ | B Y -
a8 |@ghersd ) ABC &%0e a8 Jogio Jerdorr JD0 &od. ardy) @wd) [He e ok
~ 7 & - iy

Hodfo D B ai8ino — @88, AABC G 58580 @rd) Txdrdo 2 sond, [Hodfo
. [ Ged "5 [y Bl (&) g Q -5
2é)

-
Options :

86435118819, 9

86435118820.
-
3
86435118821. V3
86435118822. V3

Question Number : 64 Question Id : 8643516274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let in a series of 2Zn observations, half of them are equal to a and remaining half are equal to
—a. Also by adding a constant b in each of these observations, the mean and standard

deviation of new set become 5 and 20, respectively. Then the value of al+b?is equal to:

Options :
86435118823, 229

86435118824. 425

86435118825. e

86435118826. 250

Question Number : 64 Question Id : 8643516274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

-~ & o —ED- & o o > E " v e o
2n H8dode a8 BB B J8deken a BSrso sorr ikee So —aH SEeS0. DA (98

= H8Bede Dty 8GN (B ADessdnen DR 5 SuBom

T

H6de%

0

LG,
G

2A

b &5 Benie

$%
20. '350..- E::J r."l"' -+ 1‘-‘2 Q..-'f._.-.:lc\.- =
Options :
86435118823, 227

86435118824, 129

86435118825. e

86435118826. 220

Question Number : 65 Question Id : 8643516275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let in a Binomial distribution, consisting of 5 independent trials, probabilities of exactly
1 and 2 successes be 0.4096 and 0.2048 respectively. Then the probability of getting exactly

3 successes is equal to :

Options :
40
86435118827, 243
80

86435118828, 243

128
86435118829, 020
32
86435118830, 0%

Question Number : 65 Question Id : 8643516275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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5 :ﬁf]l_";é'_ﬂ’{.}lﬁ u“:aatﬁm Ho a8 &w\:\:d Deresdod® BV 1 H8CS 2 Hderen ﬁmﬁo:k; ~3uw"’:a“::':';;-“§m
I : .

S 04096 508050 0.2048 @558 S8 3 Hderen SPoHLS NogrEsid

4

Options :
40

86435118827, 243
80
86435118828, 243

128
86435118829, 020
32
86435118830. 625

Question Number : 66 Question Id : 8643516276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
— I e =
CA| =7, |AB| = 10, then the projection of the vector AB on

i _
In a triangle ABC, Lf‘B{:‘ =%

%
AC is equalto:

Options :
115
86435118831. m
8

86435118832, 14

86435118833, 20
5
86435118834, %

Question Number : 66 Question Id : 8643516276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

- |— e |— T ) = g,
a8 |8gbeso ABC, &° [BC| =8, ‘{:;ﬂ‘ =7.|AB| =10, 0008, AC 2 38 AB @) dgNo =
Options :

15
86435118831. 16
85

86435118832, 14

86435118833, 20

86435118834.

Question Number : 67 Question Id : 8643516277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the centroid of an equilateral triangle ABC be at the origin. Let one of the sides of the

equilateral triangle be along the straight line x+y=3. If R and r be the radius of circumcircle
and incircle respectively of AABC, then (R +r) is equal to :

Options :
242
86435118835. V2
9
2
86435118836.

86435118837, /N2

86435118838,

Question Number : 67 Question Id : 8643516277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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]

=
o) Su

(,

&

o i o

2.8 L50ers (Sdheso ABC ﬁmi‘é)r éu@:—;’%"iu Sredlothsd) S8 &od. e Bderdv |88he
J

ghaso HG5E0 x+y=3 Joaad God. RBIEwr en WA AABC ﬁ:oé; aﬁaaﬁ‘;g’ 08¢

&

©od85E TxFren wonsS®, (R+1) =
Options :

242

86435118835. B

Sl

86435118836.

86435118837.

86435118838, V2

Question Number : 68 Question Id : 8643516278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
.

Let a tangent be drawn to the ellipse ;—_ I yz
y

= 1at .fjﬁc()gﬂrgﬁjﬂj where 0 E[U, %w
\ J

Then the value of 6 such that the sum of intercepts on axes made by this tangent is minimum

is equal to :
Options :

K
3

86435118839.
m
6

86435118840.
.TI'
86435118841, O
il
4

86435118842.

Question Number : 68 Question Id : 8643516278 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

: .
il x L 3
0¢(0, %) (3Bcost,sin) Do 56 -+ y? = 1o% BgHexde o8 Kb
' ¥, - F e i

Achasesosed. & Jmiﬁﬁa# VrHsgrod I vodbyorre Indo é?&]%ﬁ:a”mfbé D B Gy
SJewnsd :
Options :

2

3
86435118839.

L

b
86435118840.

s

8
86435118841.

o

4
86435118842.

Question Number : 69 Question Id : 8643516279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d ( k]
Let y=y(x) be the solution of the differential equation Ey = (y + 1) [fy F1)e™72 I],

di
0 < x <21, with y(2)=0. Then the value of —j at x=1 is equal to :

dx
Options :
R
12
(1 + &2)
86435118843.
2e?
2
(1 + &%)
86435118844.
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86435118845,

86435118846.

Question Number : 69 Question Id : 8643516279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. di ' ket ki : .
o588 Hanstao a’f =(y + 1) {[H F1)e"2—x), 0<x <21, ¥(2)=0. T FES y=y(x)

Y

l'I'\_f r'!“.l- = l'I"'/ - o — i, — i . Ll i S—
0808, es)th x=1 S5& Goo¥) Dend =
wd

d
=/ Eh
Options :
e
2
[1 I n:-2 )
86435118843.
292
2
'[1 [ ::-2]
86435118844.
5e2
'[02 I 1]h
86435118845.
"u;"
g2
'[r:-2 [ 1]h
86435118846.

Question Number : 70 Question Id : 8643516280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area bounded by the curve 4> =x2(4 —x)(x—2) is equal to :
Options :

74/93



3/18/2021

86435118847.

86435118848, 16

|4

86435118849,
Bt
3

86435118850.

Question Number : 70 Question Id : 8643516280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sgo 4P =2*A-1)(x—2) D H8EDS (FrodI TR0 :
& ) ) T &=

Options :
3
86435118847. 8
o

86435118848, 16

|3

86435118849,
Br
i

86435118850.

Question Number : 71 Question Id : 8643516281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1
Let g(x) = L;Lf(t}dt, where f is continuous function in [0, 3] such that 3 = fity =1 for all

1
te[0, 1Jand 0 = f(t) = 3 for all t € (1, 3]. The largest possible interval in which g(3) lies is :

Options :
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T
1 2}
3
86435118851
1
L _}
2
86435118852.
[1, 3]
86435118853,
[-3-1
—, l
2
86435118854

Question Number : 71 Question Id : 8643516281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: : b |
[0, 3] 3 @K HDcho [ oI8 o te [0, 1] 0B = < fit) = 1, 00w o) te (1, 3] 0B
05 < — wdity Sot glx) = [ f()dtenold. et g(3)d 50AS Dodhy ©sy
= fiy = 5 YERLN &0 glx)=|,. ,808°06. YD g(3) A 5OAS Judh; vsL
[eT:1ele)
Options :
1
L 2}
3
86435118851.
1
o
2
86435118852.
1, 3]
86435118853.
%1
=Zo=1
2
86435118854.

Question Number : 72 Question Id : 8643516282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Let f: R — R be a function defined as

|sin (a + 1) x + sin2x

,ifxr<0
- 2x
f(x)=4b gfr=1
3
i bxi. J; Lifx >0
| b x2

If fis continuous at x =0, then the value of a +b is equal to :

Options :
5
86435118855, 2
86435118856, —
86435118857. 2
3
2
86435118858.

Question Number : 72 Question Id : 8643516282 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f:R = R a3 [H¥aho

[sin(a + 1) x + sin2x

,x <0 sand
. 2x
f{x]={b , X =0 wond
| 3
vx + bx X i
; 7. J_ , x>0 sond
| bx?
3 PDEH0E08. x=0, 58 f ©INFHPS, a+b T Dend =
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Options :

5

86435118855, 2

86435118856, —

86435118857.

3
2
86435118858.

Question Number : 73 Question Id : 8643516283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let S, be the sum of first 2n terms of an arithmetic progression. Let S, be the sum of first 4n
terms of the same arithmetic progression. If (S,—5;) is 1000, then the sum of the first
én terms of the arithmetic progression is equal to :

Options :

86435118859, 7000

86435118860, 2000

86435118861, 3000

86435118862. 1000

Question Number : 73 Question Id : 8643516283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a8 eﬁué[gﬁ; S o 2n Sore Swéo 05 @ 5858, of ﬁuélﬁ&ﬁﬁﬁj o83E 4ndore Swndo
S, 58508, (S,—5,)=1000, ¢ ©ond, ¢ @0l aéffﬁj G088 6n dore Indo =
Options :

86435118859, /000

86435118860, 2000

86435118861, 3000
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86435118862. 1000

Question Number : 74 Question Id : 8643516284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let S, : 22+y?=9 and S, : (x—2)2+y?>=1. Then the locus of center of a variable circle S

which touches S I 1'_t1ter11all}-' and S_-:._ extemall}-' alwa}-'s passes f_hrough the points :

(2" + E\|
y 2

A

Options :

86435118863.

.{U,*'\ﬁi]

86435118864.

(1, £2)
86435118865.

86435118866. - e

Question Number : 74 Question Id : 8643516284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S 1 x2+y2=9 B0 S, : (x—2)2+ 1P =1 05& 8. S, wodborr O)8dR, S, H eSO
1 1 3 i g

3y P a8 S0 HBo S @Bnd) Boo DoSFo e  HobHe rHote FSob:

—

Options :
] g
s
86435118863, ’
0, = V3|
86435118864, '
1, +2)
86435118865.
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(

".

r

k3=

. 5)

86435118866.

Question Number : 75 Question Id : 8643516285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the system of linear equations

dx+Ay+2z=0

2x—y+z=0

px+2y+3z=0, A, peR.

has a non-trivial solution. Then which of the following is true ?
Options :
86435118867, M= WeR

86435118868, = ~ O AeR

86435118869, N=2 HeR

86435118870, =6, AeR

Question Number : 75 Question Id : 8643516285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0D DabBderer siiv

:‘l i

£

dx+ Ay+2z=0
2x—y+z=0
wx+2y+3z=0, A, peR.

£l

=% -&'ﬂ%—féﬁ oSS GolSE A, @Jth |Sod FEE° OB Neso ?
Options :
86435118867, M=o ReR
86435118868, W= ~0 AR
A=2, peR

86435118869.
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86435118870, =6, AeR

Question Number : 76 Question Id : 8643516286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

! ' ¥l
Let f: R—{3) — R~ {1} be defined by f(x) = —.

Let g : R — R be given as g(x)=2x—3. Then, the sum of all the values of x for which

' 13
e+ gl = ~ is equal to.

Options :

]

86435118871.

86435118872.

86435118873.

1

86435118874.

Question Number : 76 Question Id : 8643516286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f:R={3) > R-{1}, f(x) ==

y & o - - 1, | [ N s oy oy =}
g(x)=2x—3, g: R - Rad@mas SH8d. f M+ 85 (=7 eodyn x Deodedod

o =
—0

Options :

]

86435118871.

86435118872.

86435118873.

|

86435118874.
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Question Number : 77 Question Id : 8643516287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a complex number be w = 1 J3 i. Let another complex number z be such that |zw|=1

and arg(z) —arg(w)= % Then the area of the triangle with vertices origin, z and w is equal

to :
Options :
§ |
86435118875, 2
2
86435118876.
1
86435118877, +
4
86435118878.

Question Number : 77 Question Id : 8643516287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

JLs]

&

2. Sﬁuégsﬁua:gj w=1-+3i NEHdw. D68 J088 Sﬁuazéj z o3H |zw|=1 H:8a5»
w 5 W T, v, i oy i i o &
arg(z) —arg(w) =7 ©TDIENOBNETRND. WD Hredoths), zN0AD w e TR Ho

|8&be2o Iseexo =

e e

Options :
86435118875.

i
86435118876.

| -

86435118877.
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86435118878. .

Question Number : 78 Question Id : 8643516288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Define a relation R over a class of n ¥n real matrices A and B as
“ARB iff there exists a Imn-sf_ngular matrix P such that PAP~1=B".

Then which of the fo]lnwf_ng is true ?
Options :

26435118879, R is reflexive, symmetric but not transitive

26435113880, R is reflexive, transitive but not symmetric

26435118881 R is symmetric, transitive but not reflexive,

86435118882, R is an equivalence relation

Question Number : 78 Question Id : 8643516288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@) nXnd5H8 TrHSN @8 A0 B o3 Jomogo R (Sob dforr ATyDodso.

=

“ARB = PAP =B odDAey a8 IEBS P SRaso”.

I Bodh THS® b Ve0?

Options :

86435118879. ] e i

R Soes58:50 508650 SoiHhenid o0 FadSo =%
86435118880. e

86435118881 & = : =

=

=1 “’ 5[ 4
86435118882, = G ¢

Question Number : 79 Question Id : 8643516289 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider a hyperbola H : 2~ 2y*=4. Let the tangent at a point P (4, /6 ) meet the x-axis at

Q and latus rectum at R (xy, 1), x; > 0. If F is a focus of H which is nearer to the point P, then

the area of AQFR is equal to.

Options :
6
86435118883. vé
g
—_— = 2
6
86435118884. V6
J6 -1
86435118885.
86435118886. 6

Question Number : 79 Question Id : 8643516289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oddrdeaho H: x2-2)2=4. & RS0, P (4, V6) 38 9158 r-0fod Q3¢ doowo
5 R (*g W) %, > 0 R émfﬂuiﬁﬁ:%ﬁu&. P& {ﬁ{jiﬁn“ &53& H :ﬁmé& 2% 79 F wond

AQFR GnE) Jare0 =

a2

Options :
1

86435118883.

i

— =2

6

86435118884. V6

46 — 1
86435118885.
86435118886. /6
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Question Number : 80 Question Id : 8643516290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

B —— — -]
Let a and b be two non-zero vectors perpendicular to each other and ‘a‘ —:|Tp| s I

: ¢ ;‘ - ‘; , then the angle between the vectors : | E | {; X EH and a isequal to:
Options :
.coa_l[iw
‘ 3
86435118887 v3)

2.
hﬂ|“4
S =

co'a_l[
86435118888.

"}ﬁl_l{iw
' 3
86435118889. \V3)
.'af_n_l{ 1 W
- k\f{g/'
86435118890.

Question Number : 80 Question Id : 8643516290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; 508050 b 93 3650 556553;5;} OO &otye, ‘a‘ = |b %Eﬂmmﬁaﬁ&u‘iﬁaéﬁu&
; X E b ‘;‘ o3 55&'5@(_; | ; | [\; X ;]] s0Bdo a © Kn@%ﬁwuz
Options :
coa_l(iw
3
86435118887. V3)
a1
COs \‘.'_'E
86435118888. /
qm_l{iw
3
86435118889. \W3)
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86435118890.

Mathematics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351420
6

Online
Mandatory
10

5

20

Yes

1
864351420
Yes

Question Number : 81 Question Id : 8643516291 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If fix) and g(x) are two polynomials such that the polynomial P(x) =I_.|r{,13) +x 3{13] is divisible

by x2+x+1, then P(1) is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643516291 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

25050 P(x) =f(x3) +x g(x®) 030 x2+x+13 D

flx) S8aiw g(x) oawd@ P(1)=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

L AL o e T 0
Hel ON° &350 \ORDGEDA
=
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Possible Answers :

100

Question Number : 82 Question Id : 8643516292 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4

Let I be an identity matrix of order 2x2and P = [5 1]. Then the value of neN for which

P"=5I—8P is equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516292 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1
fJ'Li'h

EB—

2 -1
E = 4 = B - e . 1] - - 2 '"_
2 % 285158 Qiorddy HAr&BE 15080 P = { ] 0808, w3t P =51-8P E—;ﬁ;&)@ neN

- L i

o e s
ad el

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643516293 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10
The term independent of x in the expansion of | — 17 3 ] , x #1, is equal
X’ el R | ¥ —ix

I3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643516293 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2/ 1, 1/ r X F

L1 1 10
x “ A

-1, P .t ~,=.5,_n_:5'= x &3 u\pﬁ
x3—-—x3+1 x-—12x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516294 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10
if Y ! (r® + 6r° + 2r + 5) = o (11),

r=1

then the value of a isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516294 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10
Yot + 6r% + 2r+ 5) = a (1Y), 0@, o o8 Dend__
=1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
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100

Question Number : 85 Question Id : 8643516295 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P(x) be a real polynomial of degree 3 which vanishes at x= —3. Let P(x) have local
1

minima at yr=1, local maximaatx=—1and I P(x)dx=18, then the sum of all the coefficients
-1

of the polynomial P(x) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516295 Question Type : SA

x=—358 o) oy el 3 S SEK58 T8H 05058 Px) 955808, Pir) % x=158 P
Q (=" e —0 riv] )
k.
£ Dendx=—158 FE K8 Jend Gota IP{xjd1= 18, swan$Htd aKd P(x) &2
Qo @

esroof dngo=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516296 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let y=y(x) be the solution of the differential equation xdy— ydx= ul{xz yz } dx, x=1, with

y(1)=0. If the area bounded by the line x=1, x=e7, y=0 and y=y(x) is ae’™ + B, then the
value of 10(a+ B) is equal to
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643516296 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

xdy —ydx= ,.,u.'l[.xz yz] dr, x=21, y(1)=0 o3 osfes S5

& - P

0:508%8. ¥8¥0y x=1, x=¢", y=0 6din y=y(x) o3 RleAln e Ry (o8 STUL0 ac?™ + B,
) 2 :

wond, 10(a+p) @0 Jend=_

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643516297 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x 1 _y+6 _ z+b
3 4 2

Let P be a plane containing the line and parallel to the line

-
L
=
I3
1

= = - - If the point (1, —1, «) lies on the plane P, then the value of 5« is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643516297 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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g - W z+5 ) e ®#—1 HFE B¥D..
HEEDY = = 5 H@rodborT dodar HYECY = = 5 BOA

&) &85 deo PoSol. Hothd (1, — 1, o) 38 Swo P &0, 5 Gng) dend =_
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643516298 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the mirror image of the point (1, 3, a) with respect to the plane ?Ez? ; | ;;:' b=0

be (—3, 5, 2). Then, the value of |a+b| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643516298 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
?12; f | k:' b=0 % Swo s Doth (1, 3, a) BwE) e (HBDosn (3,5, 2).

o

@808, oD |a+bl GnE) Jend=_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643516299 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Let "C_. denote the binomial coefficient of x" in the expansion of (1+x)".

10
It 3 22 + 3k) nC, =a30+p.210, a, BeR, then a+P is equal to
(=0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643516299 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(1+x)" Goo¥) DR3BS x' Go¥) Mo NC rddotsos ol.

—

10
X (2% + 3Kk) nC,=a31+p.210 o BeR, ®ond a+p =_
k=10
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 90 Question Id : 8643516300 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: R — R satisfy the equation flx+vy)=f(x). fly) for all x, y € R and f(x) # 0 for any x ¢ R.

: 1 . .
If the function f is differentiable at x=0 and f'(0) =3, then }Iﬂ E [ f(h) 1) is equal to
] J !

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 90 Question Id : 8643516300 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

f:R SR o Habo o) xeRodH fix) #0500 fix+y)=f(x). fly) o@ogoénsHsod.
AT TS v, S e o i o . . ].
8 (Dhado f, x=0 & 23800cdD, f(0)=3 vons ;hﬂh = Wi kel | R
: 5 F g
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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